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QUESTION 1

In the exhibit, what represents an interaction occurrence? 

A. a 

B. b 

C. c 

D. d 

Correct Answer: C 

 

QUESTION 2

What does reaching the terminating pseudostate mean? 

A. The final state has been reached. 

B. The enclosing region is completed. 

C. A completion transition has occurred. 

D. The "do" activity of the current state has completed. 
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E. The context object of the state machine is terminated. 

Correct Answer: E 

 

QUESTION 3

What does it mean when message m is ignored in a combined fragment? 

A. If m happens, the system should abort. 

B. Nothing happens within the fragment until m appears. 

C. Message m appears only in illegal traces of the fragment. 

D. One or more m messages may appear at any point within the fragment. 

Correct Answer: D 

 

QUESTION 4

Which is true of a provided interface associated with a port? 

A. represents an interface that must be defined within the classifier that owns the port 

B. identifies the services that the object owning the port expects of objects connected via that port 

C. identifies the services that the object owning the port can offer to other objects connected via that port 

D. represents an interface that must be defined in the same package in which the classifier owning the port is defined 

Correct Answer: C 

 

QUESTION 5

How many arrows can connect to a partition? 

A. none 

B. one 

C. two 

D. any number 

Correct Answer: A 

Latest OMG-OCUP-200
Dumps

OMG-OCUP-200 PDF
Dumps

OMG-OCUP-200 VCE
Dumps

Powered by TCPDF (www.tcpdf.org)

Latest OMG-OCUP-200 Dumps | OMG-OCUP-200 PDF Dumps | OMG-OCUP-200 VCE Dumps                               3 / 3

https://www.geekcert.com/omg-ocup-200.html
https://www.geekcert.com/omg-ocup-200.html
https://www.geekcert.com/omg-ocup-200.html
https://www.geekcert.com/omg-ocup-200.html
https://www.geekcert.com/omg-ocup-200.html
https://www.geekcert.com/omg-ocup-200.html
https://www.geekcert.com/omg-ocup-200.html
https://www.geekcert.com/omg-ocup-200.html
https://www.geekcert.com/omg-ocup-200.html
http://www.tcpdf.org

